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(1) E BRI F V2] ) ™) (z) (1) (h) *) %) &) (=)
SERR30EEE SER29E B AR R

X5y & W TEE | R STH R TH 305 4] —29 %47 | 3041 —295 5t jggﬁfm jgfﬁ@ﬁ
THAH Rkt THAH Rkt =) (7)—)| F7/9-1) x100| (7/4-1) X 100
1 B R & KR KRB 7,345,674 20.7 7,965,011 18.8 7,965,011 17.8 A 619,337 A 619,337 A8 AT8
2 — W A #H & 2 0.0 2 0.0 2 0.0 0 0 0.0 0.0
S EABEUCFLEE 1,400 0.0 1,401 0.0 1,401 0.0 Al Al A 0.1 A 0.1
Z[(4E E X H & 1 0.0 7,141,856 16.9 7,141,856 16.0 A 7,141,855 A 7,141,855 A 100.0] A 100.0
5 X B & 24,726,082 69.7 2,247,585 5.3 2,247,585 5.0 22,478,497 22,478,497 1,000.1 1,000.1
6 A & 3,362,118 9.5 3,786,596 8.9 3,792,882 8.5 A 424,478 A 430,764 A 11.2 A 11.4
T 1)'¢ A 26,333 0.1 63,101 0.1 2,381,891 5.3 A 36,768 A 2,355,558 A 58.3 A 98.9
A |THRERMNE SR 410,491 1.0 410,491 0.9 A 410,491 A 410,491 B 9
Al 81 = o F XA & 10,798,138 25.5 10,798,138 24.2] A 10,798,138 A 10,798,138 22 R
MR FERMNE ] 9,967,152 23.5 9,967,152 22.3] A 9,967,152 A 9,967,152 B9 H
74 A & it 35,461,610|  100.0 42,381,333  100.0 44,706,409 100.0| A 6,919,723 A 9,244,799 A 16.3 A 20.7
1 #% % & 455,325 1.3 441,471 1.1 447,757 1.0 13,854 7,568 3.1 1.7
2 k BR & & % 24,090,330 67.9 24,527,998 57.9 24,527,998 54.9 A\ 437,668 A\ 437,668 A 1.8 A 1.8
3R EREERR 9,840,733|  27.8 9,840,733 9,840,733 s s
|4 XRABFERLDL & 10 0.0 10,676,222 25.2 10,676,222 23.9] A 10,676,212 A 10,676,212| A 100.0] A 100.0
5k & F %X B 387,197 1.1 381,038 0.9 392,918 0.9 6,159 A 5,721 1.6 A 15
6 2 & - ¢ 70 0.0 70 0.0 70 0.0 0 0 0.0 0.0
7 % X W & 672,945 1.9 566,400 1.3 2,873,310 6.4 106,545 A 2,200,365 18.8 A 76.6
8 ¥ fid ¢ 15,000 0.0 15,000 0.0 15,000 0.0 0 0 0.0 0.0
W |TEEREXREE) 4,237,107 10.0 4,237,107 9.5 A 4,237,107| A 4,237,107 8 =R
(AT E Bl & T &% ) 15,157 0.0 15,157 0.0 A 15,157 A 15,157 BRI 2R
Fr#Z AR EHLH & 79 0.0 79 0.0 A T9 A T9 i IR
r i # M & & | 1,520,791 3.6 1,520,791 3.4 A 1,520,791 A 1,520,791 B2 B0
74 H & #t 35,461,610|  100.0 42,381,333  100.0 44,706,409 100.0| A 6,919,723 A 9,244,799 A 16.3 A 20.7
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(2) %R M ER I (7) ) ™) (z) 1) 6) ) &) ) ()
SERR30EEE R 294 BE AR R
X5 = v e | M ST R BlETH 30— 293 ] | 3021 29BEF | ~g0ugy | -o0mEr
TR WAL TR WAL M=) (7)— ()| (7/9-1) x100| (7/4-1) X 100
o | L 2 & 709,038|  99.9 725,126 99.9 725,126 99.9 A 16,088 A 16,088 A 2.2 A 2.2
2 % i A 665 0.1 665 0.1 665 0.1 0 0 0.0 0.0
AME A & @t 709,703  100.0 725,791 100.0 725,791 100.0 A 16,088 A 16,088 A 2.2 A 2.2
= |1 Bt FE % 709,703  100.0 725,791 100.0 725,791 100.0 A 16,088 A 16,088 A 2.2 A 2.2
Hlm W & & 709,703  100.0 725,791 100.0 725,791 100.0 A 16,088 A 16,088 A 2.2 A 2.2




(3) WK - kR F L AR F 1) 1) ) (=) (*) () *) ) ) C)
FRRI0EFE WRK294E B FETAH B

x5y S TR | R SOTH HETH 30% 7—20% 77 | 205 —29at | ~oonm | - semer
THE HERR L TR R L M=) ) —)| 7/9-1) X100 (7/4-1) X 100
1 EHEMAE&IA 45,742|  57.7 48,546 57.7 48,546 57.7 A 2,804 A 2,804 N 5.8 A 5.8
B | 2 A & 33,536|  42.3 35,648 42.3 35,648 42.3 A 2,112 A 2,112 A 5.9 A 5.9
A|3 I A 13 0.0 19 0.0 19 0.0 A 6 A6 A 31.6 A 31.6
I3 A B Ell 79,291|  100.0 84,213 100.0 84,213 100.0 A 4,922 A 4,922 A 5.8 A 5.8
1 & % ¢ 21,737  27.4 22,889 27.2 22,889 27.2 A 1,152 A 1,152 A 5.0 A 5.0
w2 KELFRME 51,030  64.4 51,605 61.3 51,605 61.3 A 575 A 575 A 1.1 A 1.1
3 YA & 2 0.0 3 0.0 3 0.0 Al Al A 33.3 A 33.3
B4 F Uil & 6,522 8.2 9,716 11.5 9,716 11.5 A 3,194 A 3,194 A 32.9 A 32.9
% H Ci &t 79,291  100.0 84,213 100.0 84,213 100.0 A 4,922 A 4,922 A 5.8 A 5.8
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(4) By FERBALE F R 7 “) ()] () 1) 6:) ) @) ¢ (&)
SRR I0LEEE R 294E B W R

X5y & v | MR ST R BFHTH 303 ]—20%5) | 30%7I—205Et | ook | ~somer
TEE AL THE Rk R0 (7)—)| (7/9-1) x 100 (7/#-1) X 100
1 3 ¥ # & It 19,320]  62.5 19,320 56.7 19,320 56.7 0 0 0.0 0.0
2 A 0,141 205 12,251 36.0 12,251 36.0 A 3,110 A3110]  Ao2s4]  A254
A |3 Iz 2,465 8.0 2,471 7.3 2,471 7.3 A6 A6 A 0.2 A 0.2
2 A A 30,026 100.0 34,042  100.0 34,042 100.0 A 3,116 A 3,116 A 9.2 A 9.2
B 1 @ a i 30,926] 100.0 34,042  100.0 34,042 100.0 A 3,116 A 3,116 A9.2 A 9.2
g B & 30,026 100.0 34,042  100.0 34,042 100.0 A 3,116 A 3,116 A 9.2 A 9.2




(BEAZ: T, %)

(5) ST IRBRFERI = F g ) V) (z) ) (h) *) &) *n (=)
YR 304EBE FRL294E B R
X5 = v e | M ST R BETH 30%71— 20347 | 3021 20at | ~gompy | ~oomer
TR R THE AL 7= (7)—()| (7/9-1) X 100| (7/4-1) X 100
1L+ # &Rk KR B 5,902,610 22.1 5,561,283 22.0 5,561,283 22.0 341,327 341,327 6.1 6.1
2 ERBEROCFHEE 500 0.0 500 0.0 500 0.0 0 0 0.0 0.0
|3 E E X H & 5,881,403  22.1 5,442,625 21.5 5,442,625 21.5 438,778 438,778 8.1 8.1
4 X EERMFE 6,862,745  25.8 6,758,707 26.7 6,758,707 26.7 104,038 104,038 1.5 1.5
5 X M & 3,697,212 13.9 3,528,693 14.0 3,528,693 13.9 168,519 168,519 4.8 4.8
6 A& A & 4,291,012 16.1 4,006,961 15.8 4,010,869 15.9 284,051 280,143 7.1 7.0
AT & 1)'d A 904 0.0 508 0.0 508 0.0 396 396 78.0 78.0
8 M E I A 16 0.0 3 0.0 3 0.0 13 13 433.3 433.3
753 A = 7t 26,636,402  100.0 25,299,280  100.0 25,303,188  100.0 1,337,122 1,333,214 5.3 5.3
1 & % - 698,967 2.6 669,220 2.6 673,128 2.7 29,747 25,839 4.4 3.8
s | 2 TERRGMNE 24,295,065 91.2 23,549,773 93.1 23,549,773 93.1 745,292 745,292 3.2 3.2
3 E & B I & 16 0.0 3 0.0 3 0.0 13 13 433.3 433.3
4% X W £ 8,749 0.1 9,421 0.1 9,421 0.0 A 672 A 672 A T.1 AT.1
s WX BEFEER 1,633,605 6.1 1,070,863 4.2 1,070,863 4.2 562,742 562,742 52.6 52.6
73 H & # 26,636,402  100.0 25,299,280  100.0 25,303,188  100.0 1,337,122 1,333,214 5.3 5.3




(AL FH., %)

(6) BH = E EREHISFH (7) N )] (1) @p) 6] ) ) ) (=
SERRI0EERE RR294FBE AR HERER
X5 X v | M ST R BiETH 301297 | 30%—20mt | ~g0udy | -oameat
THEE R THEE 35474 M=) 7)—(H| F/9-1) x 100 (7/4-1) X100
1 1% 5 SRR B 4,129,261  81.9 4,043,273|  82.2 4,043,273  82.2 85,088 85,088 2.1 2.1
B |2 ERAERTCFHE 272 0.0 267 0.0 267 0.0 5 5 1.9 1.9
3 A & 904,617|  17.9 864,208|  17.6 864,208  17.6 40,409 40,409 4.7 4.7
A4 i A 10,008 0.2 10,011 0.2 10,011 0.2 A3 A3 0.0 0.0
B A & &t 5,044,158]  100.0 4,917,759]  100.0 4,917,759]  100.0 126,399 126,399 2.6 2.6
1 # 5 # 147,721 2.9 150,739 3.1 150,739 3.1 A 3,018 A 3,018 A 2.0 A 2.0
L i 4,884,887  96.9 4,755,470  96.7 4,755,470  96.7 129,417 129,417 2.7 2.7
MR 11,550 0.2 11,550 0.2 11,550 0.2 0 0 0.0 0.0
m W A& & 5,044,158]  100.0 4,917,759]  100.0 4,917,759]  100.0 126,399 126,399 2.6 2.6




(BAZ: FH. %)

(7) A AEITES RS EH 2] ) ™) () 1) ) €3] )] *n =
ERRS0EE SERR29E HEIRER HRER

3 1z = 3059 3057

X5 % TR | B SHTH HETH 304 4T —294 4] | 3044 —29FRH | +20%k) | c20mat
YEH Rkt YEHE Bkt (R U)) (M) —| (7/9-1) x 100 (7/4-1) x 100
2 1 B E Ix A 561,299| 100.0 360,425 63.1 360,425 63.1 200,874 200,874 55.7 55.7
[ HHBERES/EAL] 210,481 36.9 210,481 36.9 A 210,481 A 210,481 R B3
. I3 A = &t 561,299| 100.0 570,906 100.0 570,906| 100.0 A 9,607 A 9,607 A 1.7 A 1.7
= 1 & & 561,299| 100.0 360,425 63.1 360,425 63.1 200,874 200,874 55.7 55.7
F' A # W &HE & 210,481 36.9 210,481 36.9 A 210,481 A 210,481 Lo Bk
i % H = # 561,299| 100.0 570,906 100.0 570,906] 100.0 A 9,607 A 9,607 A 1.7 A 1.7
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(8) b T F R RIS F (7) ) o) (1) (%) () *) ?) *) €)
FRRS04EEE TR 294 B BT B

X5y X P SHTHE A TH 30571 20% 5] | 3024512058t | ~o0%gy | -oemit
TR R THE HERR = (7)—@)| 7/9-1) x100| (7/4-1) X 100
|1 G I A 315,761 2.3 194,908 4.9 194,908 5.4 120,853 120,853 62.0 62.0
2 1& 13,643,400|  97.7 3,766,900|  95.1 3,423,500|  94.6 9,876,500 10,219,900 262.2 298.5
A | & # 13,959,161  100.0 3,961,808  100.0 3,618,408|  100.0 9,997,353 10,340,753 252.3 285.8
Bl 8 At & 13,643,400  97.7 3,766,900  95.1 3,423,500  94.6 9,876,500 10,219,900 262.2 298.5
2 N & % 315,761 2.3 194,908 4.9 194,908 5.4 120,853 120,853 62.0 62.0
| = 1 13,959,161  100.0 3,961,808  100.0 3,618,408|  100.0 9,997,353 10,340,753 252.3 285.8




